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February 16, 2006
1. (12 points) 643.4 mL of 0.3566 M barium hydroxide are mixed with 824.6 mL of 0.5733 M aluminum phosphate.  Using an I  E diagram, determine the number of grams of each product formed, and the concentration of all remaining ions in solution.

Balanced equation
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Mass barium phosphate __________________g
Mass Aluminum hydroxide _______________g

[Ba+2] = ______________________M

[Al+3] = ______________________M

[PO4-3] = ______________________M

[OH-1] = ______________________M

2. (8 points) Combustion analysis of 45.62 g of toluene, a commonly used solvent, gives 35.67 g of H2O and 152.5 g of CO2.  What is the empirical formula of toluene?
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1. (12 points) 634.4 mL of 0.5464 M barium hydroxide are mixed with 724.6 mL of 0.8701 M aluminum phosphate.  Using an I  E diagram, determine the number of grams of each product formed, and the concentration of all remaining ions in solution.

Balanced equation
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Mass barium phosphate __________________g

Mass Aluminum hydroxide _______________g

[Ba+2] = ______________________M

[Al+3] = ______________________M

[PO4-3] = ______________________M

2. [OH-1] = ______________________M

3. (8 points) Combustion analysis of 45.62 g of toluene, a commonly used solvent, gives 35.67 g of H2O and 152.5 g of CO2.  What is the empirical formula of toluene?

